o] H28 /NHIRHYYH—IGEEN 280
| REK
2 | 0
4
Plk
1 1 2|3 1
1 2
1] |4
3
S e -
13 0 2 1= 1 3 6 0
1 2 : if il
: Plk
| 3 1|3 3
lo 15] I I
©) I |3 \14 o
|
I 2] S
|
A3 Fa D3 G3 : B3 F3 G4 E3 C3
= (= |m| |E|il=] [s| |&| |w
= =1 |® K
7K £ 3] e | | ph J * x H
1

BEEN—F ARG B

%208
98 10H (X)) £15: AJIETR BE: BF
[E] A S V'S =H(X-811-2)
1 08:30~09:25 [®E=/K 3V S 1 #E |[SKIEF|EF
20~10- 1VS1 = R P
2 09:30~10:25 | SKJ —p = B |m=x| e HarE
20 A 3—/\)L
3 10:45~11:40 [ M 1V S 4 SKJ [z=x[EF[EF
4 11:45~1240 |[R=/K2V S 0 &F |#m|SKJ[SKJ
k "'PKabU
£1H8
98 3A(X) =5 WEKIMER BEHEK
& 5l & B ] VS B (X-EI1-2)
M| 13:30~14:25 [EE/K13V S 0 FE |5 xenn|xenn
[ @] 1430~15:25 | i#m 2V S 1 mezs|==«|F EgHH
309432 —/\)L
@] 1555~16:50 [ ErE 0V S 15 sans[=s«[#if]Hm
* -PK#HY
9A 3A(X) = WWFEND EEIUFE
[E] A SR V'S =H(X-811-2)
I | 09:00~0955 | ILE ?g?g BTE |=on|sKJ|skd
ii 10:00~1055 |[=MH 1V S 3 SKJ [\LWE[RTHETH
m 11:00~11:55 F+ 6V S0 HH |skJ|zon|=on
V]| 1200~1255 |=D# 3V S0 WFE [FFRTHETH




